Compound measures

Yr9 Summer

Farce Area Presaure

Forca

Prasaura = -
rea

Foree

Hrom = ————
Fressura

Force = Areax Pressure

Examples

A force of 20N acted over an area of Zm 2. What is
the pressure?

Pressure = force = 20N = 10N/fom?
Area 2m'

What is the force exerted on an area of 10m? that is
under a pressure of 2.3M/m??

Force = Areax Pressure = 10m? x 23IN/m? = 23N

Mass Density Valume
Mass

Wal =
Hmy = Densily

Mass

Danalty = Volume

Mass = Density » Volume

Examples

4 piece of metal weighing 30g has a volume of 4cm ?, What
is it"s density?

Density = Mass =30a =  7.5gfem?
Volume Acri
What is the mass of a piece of rock which has a volume of

34em? and a density of 2 28g/em *?

Mass = volume x density = 3dcm? x 2.25g/cm? =T6.5g

Speed Distance Time
Distance

=] d = - -
Pae Time

i Distance = Speed x Tima

Distanee

Timg =
i Spead

Examples

What is the averoge speed of a car that travels 400km in
5
hours?

Speed = distance = 400k = BOkm/h

time 5

What is the distance covered by a train that travels at an
average
speed of 150mph for three and o half hours?

Distance-= speed x time = 150x 3.5 = 520miles
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